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Time : 3 Hours Maximum : 75 Marks
Part A (10 x 2 =20)

Answer all questions.
1. Define normal rate.
Quéy eigsms cuarum.
2. A man bought a cycle for Rs. 250. For how much should
he sell it so as to gain 10%.
em walsear . 2505@ @ WHeamrnguimear eurhid
10 sz6is @eorusgL e eeuciere| CsTamssE, cilhs Couam@Hib.
3. What is the different between logarithm and exponential.

DLEMSSGD AHSEGNS@GWwTar Counumhiaer wrame ?
4.  Find the value of log, alog.blog,c.
log, alog, blog, c e wHlienLs srehms.

5. When a subset is said to be proper subset?

TLIQUT(PS @(H 2L ST H& 2L SETIOTE &0 ?



10.

11.

If the set A is the set of all even numbers in N then find
A°.
(I HETLOTETF) (A) @Que ecramsaflgierer, @yl el erawrgeflem

Qsrgliy aafled AC g srems.

Define sample space.

gamGlouefl — euenyuim.

A fair coins tossed twice. What is the probability that
getting one head and one tail?

@@ Ermar pravwb @ @mepern  sarliu@n Cumgl, e
S e Le|b ell(peushsanear Hlapsse eremer ?

What is the condition the Binomial distribution to be
symmetrical?

FGOILL UTeU6 FLEETTE @) (Hés HlUbSmaer wmg)?

If the mean of a poisson distribution’s 4, find S.D.

umlgen ugeusdlen grmafl 4 erafley S L elwsssmns srams.

Part B (5 x5=25)
Answer all questions.
(a) If the difference between true discount and banker's
1s discount on a sum due in 5 months at 3% p.a. is
Rs. 10. Find the amount of the bill.
O @TEILD  SETEHLIGSGHD,  eumEl  SET(EHLIG & @ LpETer
gdlursd 5 IFESERESE S3%SFILer  AETHESE
ep. 10 erafled wrpm Fliger Csrensamwsd smehms.

Or
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12.

13.

(b)

(a)

(b)

(a)

To buy a computer Raju borrowed Rs. 50,000 at 10%
Interest per year, compounded half yearly, he will
pay off the debt by equal payments each quarter
over 15 years. Find the half yearly payment?

grege  sanflall  eumhiGeusn@ m. 50,000 sdewear 10%
QUBLTHET el lg IGSHD DHMT TG (LPlgeUEnL_U|LDLIlG
UMTBIGEDT . Dol &0 DjeTey Bl ey yariqne
RMupedn e 15 yam(hserns  Csqisdlermed. ey
UHLSFD Fass Colarrig Cgrans ereusiamey ?

1 1 1
+ + =1.
log,bc+1 log,ca+1 log.ab+1

Show that

1 1 1
+ +
log,bc+1 log,ca+1 log.ab+1

Or

=1 erar Hlmaeys.

Using logarithm find the value of 100(1.16)""”.
100(1.16)101'5 —ar  wSlleu  wLE@SmW  Uwearl(hSS)
Hlmiays.

If A={a,b,c,e f, g}, B={,d, f, h, i} and the U is
the set of all English alphabets than calculate the
following (i) AUU (i) BuU and (iii) A/B.
A={a,b,c,e f, g}, B={,d, f, h,i} opmid U erenmp
sawTld  Ymidle  erpsgisatiear 2udl  eTpSgSHmen
o drerLsdwg erar Qamaw® (1) AuwU (@G) BuU
wpmb (i) A/B smar saréd[Hs.

Or

3 F-4806




14.

15.

(b)

(a)

(b)

(a)

(b)

Draw the Venn diagram for A and (4 N U)C .

A° opmid (A N U)C Samean GleuaTUL SFHenaT cuans.

State and prove Addition theorem on probability.
Blapssasatar gl dwursdamar Hlendss er(pgis.
Or
Give a short note on Mathematical expectation.
sanlgailwe ordl LT Lysear @Nss An @Olly Sms.
Write the formula for binomial distribution and
discuss it.
FHOILIY UFeld Fodffar @sHrsams erpd oflars@s.
Or
A book contains 200 misprints distributed randomly
throughout its 200 pages. When is the probability
that a page observed at random contains atleast two
misprints? Assume Poisson distribution.
200 ussmger GQarar @@ Ussssdlae 200 oiFs Wanp
o drerer. eveu ETHm (pevpuied LiellujeTarer. Lmliger
ureueme Lwearl(hsd, @ usssHd Erom  wenmude
@ODHSs Q@ sepsdr Quuusheter Hlepsseimens

STETS.
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16.

17.

18.

19.

Part C (3 x 10 =30)
Answer any three questions.

The simple interest on a certain principal for 5 years is
Rs. 360 and the interest is 9/25 of the Principal. Find the

principal and the interest rate.

GOUG L Ogrensullenr 5 eumLsdnarear safl ey 360
oHmId  eulgurerg 9/25 & g OCgrens oreafled DjFed

Qgrenseamuiud, cully SN5FSMSUID SHTaTs.

Find the value of log, [log2 {logg(log3 27° )}]
log2[10g2 {10g3(10g3 273)}] & HleL STems.

Let A,B and C be any three sets. Prove that

An(BuC)=(AUuB)n(AnC).

A, B ovppd C eeawer gCsaib 3 sewrmbser erafled
An(BuC)=(AuB)n(AnC) orar Hlmieys.

If two dies are thrown simultaneously then find the
following :

(a) What is the probability of getting a total score of 7

(b) Obtain the probability of getting a total score is

even number.
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20.

@ useLser e Cay 2wl Huu®bn Cumipg

(=) @@z 7 v d5 Hspsse erere ?

(=) bz Qrien uamLuld S &5 Hlapsse| wng ?

Derive the formula for Normal distribution.

mMILIL ugeualen @GsSlrsSlener Hlmadl.
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